W@ o

5 Subjeez

Nmnﬁ / Iﬂdﬁx Nﬂ B #hga e ennar an .Nim . ,}.i.; ' ﬂ{.,u.ij‘r soks wans P Yy

L2

AN I R NI O X C IR ARCI PSR GFCIFEIRFF AR T CF b aasivsesonecnns,

Signature of nvigilator

Smportants - e T T For markmg examnmrsuse nniy

Questncm mrmber | M’agkgs.

% This paperconsistol§ paiges.

Write your index wuinber ¢of recf!y fn the

appmpﬂate p!ace ot page m,e and pﬁge I e

: three.

: Answerallquestzons on this;mper'ﬂsem

Use mes spac pm' ,d under each quest;oa ' "f"

zfﬁrwarking;aqd wrﬁi‘mgz'm{:aﬂswe‘rf; )

%I necessary""thﬁﬁF@?L_ft?éiwant»étg}}s ad | [0

corre;:tumtsv. o

Mad(swvil];@mwéitdéd asfollows:
02 niarks eaj_c‘hs'f&mtméﬁo;ns:_!'-25 fepart A

». s -
BERERAR T L P TR T O R O T AT oY

msmml(s;é&éhququéstibnsi-i‘n:pactv.ﬁ '  Marked by



https://pastpapers.wiki/

- Avswir gl the questions on this paper itself.

(o1)- The nitial Rs. 500 000'0Fan inividual's avival incomie is ree o the income teox. The |
| petcentage of the ineome tax charges for the next Rs. 500 800 is 4%. 1f his annual income|
isR3.650.000, caloulate the annval income tax o be paid.

- o simpligy. 3 4L

103 'J}%‘it@the shaded regionin :satneia"iéiun* o e ]
' e
N

N
- Ny

- [04) Express inlogarithinic form, x=g'

2 Fep, Lo N

{w3) A"écord'ing tothein formation given in the ﬁg.twe_:.. find the value of a.

s Solve, | %’, 14

Grnds 10 Matheshiics | !iV{i{g}lﬁfﬁcﬁ_u‘gc:
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(o7 ‘The center of the given citele.is 0. Accordingto
the given information finithe vatue.ofx andy.

PR

o _ 1681 Mﬁfbf_¢ﬁf'fa:kﬁs;;3 12' haft;xr's:.{;aft-réivel 1 ‘755km;Cfé:lmlla_tﬁtﬁesﬁvera’ges’peeéi:afi:’t}'

o ?:":(Oafi;ygfiﬂﬂ?ﬁie leastcommon multiple 'dft-ﬁéztiiigfe’&rﬁc-t-eﬁné_ 6x"ypand 4xy‘;

:{m) Inthe gmmﬁgmc, AB = “BC. erte the pair fomgies
| “that should be equal to become the two trmngh,sABC
-and BCD congruent under S.A Seage, -

- '(-ff) The i'xeig‘htof a cylhxdcﬁr‘vc}ith tlie diameter of the base 14cm is A5cm, ‘Cﬂlc'uhﬁt the arga 0%‘:
the curved surface of it {Area of the curved surlace of a uylmderwnh the radias » and the’
: hmght h i me h )

, m ﬁm ﬁgm'e, ABCD and BEFC aetwo Do

W Jgramis. Acccﬂdmg 1o the gwen Y AN
| mfmmat;bn, ,

’ Fmd the AD lcngh

F: nd ‘{he Hittgm tudeof ADB

. SRE———— . st c,a:v\'&\wu-aﬁ '
13} From: the failowmg %lu,t and undemne the statements whzch contain diserste data,

% ‘Thedaily sales of thequantity of rice during amontly.
% NumberoFmenibersinench famity inacertain village.

i, -"Iyl';aﬂ{s‘.o-l;)_.tain_byag;-cusz’;smdients for nmathenatics paper,

“Grade 10- Mathematios- L« YWestern Prosiage
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e 'ﬁf_'{m In a random’ expmmcnt A aud B *tm two events wh“ ‘h are not mntua}iy axclusm, |

HP{A)“‘-L P(B)z %mn PLA nB) = ‘ mdpmum,

P
-

: (15) Fmdthevolumeofﬂu.puam :

2

' ._(16) Wrﬁc down thé gmmmt a&d 1he mm cepi af [hc. stmtght lme wliiclh passes thi mq,h lhu :
- pomz\: (9 5) and (J 8. W '

|17 Obtainthe first approximation of [34. -

(13) Tnthegwm txgm'c, ﬂ‘ BAC“ 60°and Aéf)@ }3@0 f- o
'  find themagmftudc ABC. .

g Findthefislors, ¥ ~x~42" > -

'<zci> A};its adiameter @f‘tha vitcle: If*fkl? “# ALY, fi:ixcﬁlili,e inﬁaénimt@ of

Geadi 19 Matuumﬂlrcsl \5 esiurn ?mmce
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|en f’aed suiﬁcxam tor 6 days iox 10 soldiers has bcen stowd al & certain mmp lf ﬂtmthu tws '
saldiers were assxgus.dto the gainp, for Trow imdny dayswd { thasc food besulTisient?

| _'(22) Iftheareaof HueABquara! eln;,mm is 7Smn .
tmd the ared olAABC‘ e

| 23) lf thc pmmctc rol’ (lm given hgu ¢ i )Ocmzmd the PQ arc !en g,th is ?.2cm

mid the fadiusof 1hs,sect0r ) _

|@4) Solvetheinequality 4-5x> 19,

&

S| @5) Inthe: gwcm fq,m'c AB =Bom, Draw the skdch '
of the relevant vonstruclions neegted fo-obitain
thepoint P o the line AC \nhxch Is eqmdzsmnr' :
tU the: pomisA zmd B :

Grade 10+ Mathenatics 1 - Wostern Province
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, Amww ﬁll‘the ques tms on thxs papex 1tself

(Dl} Aw‘ltcr tank i$ wmp[ctcly filled with water, 2%( thc waiter in it was waeted % 01' thf.

Temaining water isused., . .
m Whm ﬁimuon of the wholr. quantxty of water isem ainedn ftcrﬁm wastage?

(i) l'rif‘ix.prgss the -i¥§§¢i :(;1',tiﬁjﬁf."ily‘ ;cif‘ "waresf- as a; fracﬁg);n? of whole quantity of water.,

(i) After that, the rest of thic water isfilfed equally into three containers with the same|
: capaclty Whai ﬁ-ztctmn ef the whole qnanmy ofwateris filled into the contamers?

»

* (iv) I the voluniest water inone containerfs 257, what isthe ca_p%icity- of thetank infiters 2|

(92) The ﬁg,ute shows a sketch of 4 wmdew gﬁﬁ with

4 medsuremems w!uclx is mnsxst of rele and two

squares. ‘ . R [ o
() Findthenreaof the lerge squate, R T 1 Soom

st S

(i)Y Findthearshofthe semi cirele.
1}
L

‘ 4——-—-560m~.' 7l
’ ‘_-(m) I iron: xociz; are used {0 mai\c th‘, guli imdtaa i;,ng’rh of the non rod w!nch is nc:zdect' '

- For the: :,tmx eit cnlar arc.

* {iv) Find the tofal lenpth of the itoii rods which isneeded to makethe gritl.

. *

Grade TO- Maifiomatics 1+ Western Provinice
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‘_; {0‘3) {a) ﬁ take‘sdaya ﬁu‘ﬁnmnm pmm a. schcmi imﬁdmg }Dmmg ﬁ;e in:sm days oniyémeni
B wcu,asmgmdtolbe work, : R S :
" _(1)“' IIOWmanymau days are nmduim wmp{etc the whatework?

@) Whatfractionof the whelework ifsfdnne:ﬁirri@.‘the}t‘irsm'd'a’y-s?'

(id) How mauy mm'e men are needed 0 ucmp{cte the mmmm ng work on expeetedlf
L datc" ' B

(W) e lﬁbﬁur c!mrgcs of aman’is Rs, 2600 per day. wﬁat 1% the fotal amount that:
#ghould be paidas Ehe Iabmu charges | f‘m the whole work?  *

' (b} Acermm ki mt émmmi ct‘adrgea 8% OF! 3 assesscd vdl He41S: azmnal rat*es f¥ am; -
' ‘the skiops within its adntinisteative dosmin. 1t & cettiin shop pays Rs 240() asi
. fuarterly rates, galeulute the annial assessed value. - ‘

L (64) Aco!umn gmph whu,h ywwdc.s mlfurmatmn on the lum,h packe& antered by 180 peapie
i 'who Wﬁm parimpmed im-a s;. Hinar ,and any ifico ipiete table pmp'!red i dmw apie bhaﬂ

tm‘epmswt the: ahavc,mfﬁrmahon wgwenbde\m [THRTI Tro of orie
79#.“..,. e RS | i by ampﬂgrﬁersv

~- Fish o0 f dg - 360 %
Mt | s [B00x 35 .|
SO L . '

mh M»at rgg Vege. uﬂc w‘@i | me

Angieof thecemewf
tesector -

No iﬁt.fdgrs

£y, I'md e m'tmbf:r of pwplc who ordered vege(abie
. Tnnely packes st Gl the télevant bt'mk in the
1aHe, Represmt ironthe ce{um ngraph,

(i() l' illin the blanks m the tztbie to dr aw the pie t,hart, -
(m) Diaw. ths,pw d’lﬂll omhs. s,ww cirele,

rv) prress thie viifio lmw«,eu the number of' pcap!e
who prefer fishand cgg in simplest. forin, -

© Grade 19- Mathematics | « Westers Provines
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,((35) {a). Tha certain gmne t}me; wdwh&els {0 spm at thx, saic mm Om, wheel ig matked |
- in colours and the other whiel is. fnarked in numbers. The winner is selected by

- consideri ing the.céim;.;*-and themunbgrwhmlux ifrontolthe arrowheads.

s (z) Mmk a!i the peswble ’esulis obmmed by spinming the Lwo wheeis atthe samo

tzme on the given & .
c;olam' » .

Number

0 L . 2.3.4 5 ~.‘,-6

(‘u) Find thn Gpr ababﬂ:{y of g L,cttmg, aneven mtmbcrwﬁh g,recn ceio ar,
o (i) Findtheprobability of getting an odd number withany colour

(b) fwc students A 'md B are hcmg foa a practmi exam, The teacher claims that the |
probabxhiy tJnLA passmg lhf: exam i$ = aud the pwba bility that B passing the exam. |

3

4 Aail
Using the above information, wmplek, the given treediagram. -

I md thve probability ihal Apassing the exam while B gelting fai lui

Srade 10+ Mathematics e Wesicro Provinee.
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. (,’,_ iy -»I — » - .' E’ ot “"".:‘ oo
St 6&3:)@3’ &%
(mso mrrammret msﬂﬁ» | émm&&mw

Fumd } Mathemaﬁcs
. iji.~$nbmt

j,*:* Area ofthecuwedsmf‘aeeoi right
thevo!mneofnssm'h T

ﬁnswcr five: (05) quevfmns otlly. )

(01) An mwmplw, mblc of valuus prepam! 0 chawthr; grap!mmu, I'ur;cmm S 2 ‘? (,\ 7) is]

g:vmbalﬁw..

(ﬁ) [’akm;, 10 s:mll dmswrté aﬂong 1lm X axts as om. uitft and HD small dmsmns { B
: alangthc yamsas womnils, draw thc mxphdfﬁmabxwe hmcﬂon‘
(b) "IL'I's:i:ngmc graph,
(1) Pmd then‘ummumwlueettheﬁm»tmm . |

| -{u) Find thc rooty effhc equatmn whmay‘:: )

(m) f‘ ) nd the mnge of me vailes of X where tunctmn mcwaw posmvdy
'(w) lf tu, aboxrc k,mph ;smevcd upwmds alangthe y axis by 2units,

wnte ihc: equaiwn at thenew graph m the fox m y = a( %7 b )

| (GZ) M1 chexa whc) bowew:.df ] ’:215'0‘ 000 from ace it ﬂmnuai msmunon ter an mnual|
interest rate of 10% pxomasmg tosgitlethe lnzm in thm years, dtp()‘alttd that amcunt ing
another ﬁnamuﬂ instittition wmch pays a monthly snnplc mtems! vate of '7% Show by_

giving u.mum whether ihe ms al mluusl received after {hree years Jmm the ckpcmlydf*

- amountbesullicient .,tc:i:set.tl«;::_u_w toan.

Girnadie 10+ Mitisiatiss. 1 < Westesri Proviage
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o é.(ﬂ’b‘) (ﬂ) Mﬂkﬁ j,)f ﬂib mbjeci ofihc h;n maia x*'f} 5

(b) Price ota ban is Rs. 5 nmrc thaa the thccﬁﬁ thc pucu of & banana Price of'3 bnns
* and 2 bananasare: Rs 95. . r P T ’ ' :
(x) By takmg 1 the pme ot 2 bun as X and i‘he pnm. ot 4 bamma sy, buz Id up i pau of}|
gk tamecmsmmtmns psing 1hc dbm/c information.
(1 x) &o&ve thie srmnltaneaus equations 'md F nd tlm prxcc ofa bun aud the price of 4
_banans, . - 5 :

| ::f“-iﬂ'“”“’ @ %Ump’(?u) 3(«:?"_)]':«.,»" o

Cb) In Ahy paxalleiogram 'ABCD the

- fess thari’ !he lcugm oi AB Area of the -AHCDI .
- parallelogram is 40¢n" By taking the AB lengthas . L.
. sentimeters, build ¢ ipa quadratw- equatmn, Solve, A
o tiw cquauon and ﬁnd the: AB length, "

T :(05) A lrupwncy dmubuuon wmammg mtoxmauon an thc amount of rice thm was sv;zld
O during amonthis, gwen heluw ‘ ’

| [Amouofieste) [o-s]:
o Nﬂ ofdays(f) z

amcunini rxccsom i 30. daxs mkdograms . : :
(‘m) 1f thts pditt,m m sales ivexpocted to contmue dm mg i.he ne\T months: toc}, pa!utlale i
the amowtof mcc that z»hcmid be: stored ta b@ ﬁuﬂ‘mam forthio: month Decemb&n

, (06} (a) l’"xgurc shows a [3m wli AB vertical wwcz which was ‘
| Vo the hmizontal ‘ground. When nbsorvmg from ﬂw B
" ”bmtom {A) of the to wer,rthe angleof’ ulevatm frof the fop- i5m L
ot the trek is: 45 Whm qbscrvmg tmm tb.e mp{ BYet lec Al
tower, thaanglc of devatmnofﬁ:etepot the (reeis 30", o |
@) Drawa smtahle seale. dmg,r,.un o r&pmsent ﬂxe above mt’nmmﬂon taking. ths:
o soakum mpxcscnts S, B
o —(h) Usam,  thie Sealedingranm, ﬁnd thehmghwf Lhe:ime : )
(b) The tengthofa side of 2 ctibiie. shaped water tank is 1.5m. 1 he tank st tlh.d using 4
mpc through whic h water flowss atauniform rate of 125 mm per. mmmc
() Findthecapacity ofthe tank it Titers: .
(u) Uow many saiites will u take fo. fill thc tank com pimly"

tlfééi ,

2~ o (‘r.'nicw Mathermtics 3~ W .ﬂg,u‘t I’mxmc
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Part B e
Ansiver five questmn only, L

A

o (07) (a;) n tei-*m 61’&1‘1'-2‘11-‘1“11:\;11%6}Sléégms#ibn ts 'l';,r?-" 7*-311
(1) Wm te thie fiest threc terms ofthe: umhmum pmgnssmn,
) Whm isthe commmon difference ofit?
‘(m) Whlcfx termofitis (»‘29 } ?:
. (1v) Pmd thie sum of the first 12 terms of‘ it. . __
(b) Rind the. 8 termi of an anthmeﬁc pmgressmn whxch Sty ﬁfom the 3"' form of the
abme.meﬁtmned anthmefm: pr&gre‘ssfon &hd havmg the:same: canmmn dft}efcnce

R (108) Torthe fGllowmg wus&ructwﬁ ,. 'p‘su only &he stml ght edge witlt tho soale cmfmm and the -
| .A air nfcnmpasses only. Shoy he wnsu'uotmnimes clearly
'A(ii) : Construct !hcAB(D :limnbu?wmtAB Smx andl. AB(. 60" _
.(i-i;,)? Draw thcthagonai Bl) and wnslmm afiie patalid to BD, from C. Produce the: hnc
.‘ AB such thal the piis dﬂe.l lme mwlsAB atls. '
(iii) Coust: gyt thupu pemhcula;r bxsoctm of BE,
- .(ng) 'Consutxci ﬂw augieb;seclumf CB’E | ,
| (v) . Mmk i mmrscclten gmm. of ihe above wnsn m:mons @ityand (w) as O and dmw 1

tke cude, \Vtﬂl ﬂwmd fus OB

(09) In the ttgme, g pmms A -“B "C and D are snumed (m the auc!e ,sueh that A= AB
| Theside BE is produced lcT: suclt th"n 13(2 & CJZ G iving reaso ns preve that A-C /J DE.

AR S S,

" Gigde 10- Matiematics: it - Westeen Provises
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rite: wo -char acterxstmwfa mral.:ei;:')'@ﬁ;ﬁz, i
(b) In -.t,w;pmallelogmn ABCE the mtd pmnt o’r
o . ;Ihsdrawnamc i50.The line dmwnpm a!lclta
R o AB ﬂuoug,h 0 mccts thc s;de AD at X and the
- sideBCalys , -
h f(_.if)v Cﬁpy the dmgj i aud mack the gwe;udata onit.
- '(-ﬁ)f Shaw ﬂmlﬂte AAO‘Xam{ the/k coy afa:cmxgmmt'
o _(m) l’rcm thalthe qudmlmml AYCX isa {J'ud{lclogmm

}mpedeontamerwﬂh uze radivsa is-

s&hcviifuanmlar prxsm with lhc B}

 -container, the water level was Tis

W ‘ﬁ"&;éﬁ.;i«l‘,.-a = 2,;56i1i;eua¢i,{i‘&;;Qcm;,, -'ugi‘ngllﬁgaﬂZiﬁmic; tables find the vatueofx.

. 112) (a) lf n(P) 40 n(Q)*JSaud n(Pu Q) 68 umngthc set f‘ormuia or Giher methad f"md

ﬂxe va{ucoi n (P nQ).

(b) I*mm SG cfuidx;,n whcs pm“ucxpmut lor a bn ihd,:yf ’pmiy, 28 até fce- u‘cam and 15 atc .

) titeatice g ; _ﬂdrenatepuddmg" ) : ‘

CW) If the chddwn Who e hmts are d“"‘“"w b}’ A and the childrers who ate ice

cream arc dcnoted by B de;mtc the e;,t of ch ildren who afe only ;gg oreanm ol
termsoannd B : L . |

04+ ) Grmfe w Mathem:mcsu Weﬂem?mvme

a@a z;@mi‘mg@ 0 yém zszn( mathspapers info) 625 2202600 @E:bmabv
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